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HE'D 3500ha

7km X 5km = 35km? = 3500 ha




O 90000 cm? = 9m? @ 23m? = 230000 cmm?
@)1.5m? = 450000 cm? @ 35000 cm? = 3.5m?

® 10m? = 100000 cm?

1m? = 10000 cm? ©| B2
® 4.5m? — 4.5 x 10000 = 45000( cm?)
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® 100m? @10000a @ 0.1km?
@ 1ha ® 10m x 100m
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oo &9 E BT m? 2 HHLH,
@ 100m?

@ 10000a = 1000000 m?

® 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?
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(42.7 4 29.8 + 36.8 + 33.5) + 4 = 142.8 + 4 = 35.7(kg)
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(RA AFA 2 FA)= (B)x (3 %)
— 2x1200 = 2400(kg)

— 2400-+-6 = 400(kg)
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800 cm — 8m
5><8=40(m2)
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(90 + 120) x 80 = 2 — 50 x 40 = 2
— 8400 — 1000 = 7400( m?)
= T74(a)
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320 x 250 = 2 = 40000( m?) = 4( ha)
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la = 100m? , 96a = 9600 m?>
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(50 +70) x|+ 2 = 9600(m?)

[ ]=9600x2+ (50 + 70) = 160( m)
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10t — 1.3t = 8.7t = 8700 kg
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(9] wol):
(500 + 700) x 800 + 2 = 480000( m?) = 4800( a)
(83 AYALEF) : 4800 x 60 = 288000( kg) = 288t
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2.7L = 2700 mL o] B &
2700+ 7 = 385.7- -+ — 386( mL)
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@ HEH © 1340 + 4 = 335 (H)
© A : 1460 = 4 = 365 (H)
— © HFHo] 365 - 335 = 30 () & B5Urh




15. thg EolA @ uheol A Agke @ YUl

e DO 0| @ @ @ B

1 4=(9) | 475 | 655 | 549 | 475 618 | 546
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(AA AT )= (Bh)x (=2 )

= 546 x 6 = 3276 (§)

(@ mH= I+ )

= 3276 — (475 + 655 + 549 + 475 + 618)
= 3276 — 2772 = 504 (§)
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(540 + 620 4[|+ 450) + 4 = 470
1610 +[ J=470x 4

1610 +[ = 1880

[]=270(7t=))
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(RAHZYY ko] o] yol)

= 700 x 350 = 245000( m?)

245000 m? = 2450a YUt}

oA Yo7t 50a QI O 2 L,

2450 + 50 = 49(7)) o] 2 &

Bo]7} 50a 91 B2 49 7] THE 5 AH5YTh




20.

A%y FY oldol5o] 73w
ol 5ol 7H4l el 4 72} 5 UKL w3

ofglo]e 7] E7o] Lhirof

TE ZAFSE

1+ o
L= g

Foleh @ Aol
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D pal= 3 —‘,ﬂ

Ay —>9-5=4 (A
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AU »7-5=2(H

H >10-5=5(H)

49 »8-5=3 (")

438 5> 7-5=2(H)

dY -6-5=1 (1)

A3l 5 9-5=4(H)

Al - 8-5=3(B)
—44+24+54+3+2+1+4+3=24(H)
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